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CERTIFICATE OF COMPETENCY IN POWER 
DISTRIBUTION (CCPD) 
Term-End Examination 

007 12 	December, 2017 

OEE-002 : POWER DISTRIBUTION 
SYSTEM - BASICS 

Time : 3 hours 	 Maximum Marks : 70 

Note : This paper has two sections — Section A and 
Section B. Both these sections are compulsory. 

SECTION A 

1. Fill in the blanks by choosing the correct 
answers from the choices given below : 	15x1=15 

(gases, humidity, delta, conductor, ABT, creepage, 
reliability, post, cable, power factor, steel, rubber, 
interlock, trivector, conservator, star) 

(i) 	 gloves can be used for doing hot 
line maintenance. 

(ii) In an ACSR conductor, the central core is of 

(iii) Due to fault inside the transformer 	 
may be formed. 

(iv)	 of supply increases with increase 
in the number of transformers. 
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(v) A/An 	 is provided between isolator 

and earth switch. 

(vi) One of the factors contributing to high 

technical loss in distribution system is load 

(vii) Quality of SF6  gas is checked by its 

content. 

(viii) 	 is provided for provision of 

expansion and contraction of oil in the 

transformer. 

(ix) An insulator is specified by its 	 

distance. 

(x) Primary of transformer winding is generally 

connected in 

(xi) 	 compliant meters are known as 

special energy meters. 

(xii)	meters are used for HT consumers. 

(xiii) Insulators in use at substations are 

insulators of pedestal type. 

(xiv) 'Dog' is the trade name of 	 

(xv) XLPE is a type of 	 
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2. Write True or False for the statements given 
below : 	 10x1.10 

(i) Power transformers and distribution 
transformers differ in design. 

(ii) Dissolved gas analysis is carried out in case 
of a circuit breaker. 

(iii) Static meter's accuracy class is typically 0.2. 

(iv) No earth switch can be operated unless the 
corresponding isolator is in open position. 

(v) Overloading of a distribution transformer 
can be detected with the help of a Tong 
tester. 

(vi) Expected life span of transformer above 
100 kVA is 35 years. 

(vii) Ratio test of transformer can be done in 
energised condition. 

(viii)For oil fire, foam type extinguishers are 
used. 

(ix) A feeder can be either an overhead line or an 
underground cable. 

(x) Energy consumed is typically measured in 
Wh. 
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3. Match the following given in Column A with 

Column B : 

Column A 

5x1=5 

Column B 

(a) Multiplying factor (i) Load current 

(b) Diversity factor (ii) Energy meter 

(c) Circuit breaker (iii) 	Fault 

(d) Relay (iv) Insulator 

(e) Polymer (v) Load 
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SECTION B 

Answer any eight (8) questions from the 
following : 	 8x5=40 

4. How is a fault interrupted by a circuit 

breaker ? 

5. List the tests that are carried out for a 

transformer. 

6. How does higher voltage reduce electric power 

losses ? 

7. Describe a Ring Main System. 

8. What is the procedure for Permit to Work ? 

9. List important reasons for DTR failures. 

10. What is the difference between Power cable 

and Control cable ? 

11. Write a brief note on Hot Line maintenance. 

12. What are the advantages of HVDC ? 
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13. Differentiate between Preventive maintenance 

and Breakdown maintenance. 

14. Why is underground cabling being opted for in 

urban areas ? What are its advantages ? 

15. What are the roles of instrument 

transformers ? 
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